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Sierpinski Carpet:

So
Let S, be the nth step of the construction of the Sierpinski Carpet. Suppose that S, has a{ea 1.
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The area of S, equals

The area of 5, can also be found as follows: S, consists of

Therefore area of S, equals

The area removed to ohlam Sn+1 from S, equals|
series (write down the sgrigs and calculate its sumT:

Other Cantor Sets

times the area of 5,,_,. Therefore the area of 5, is
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us total area removed can be found as the sum of a

n "

squares of area

Fixan integer k. Let C* be the set constructed in the same way as the standard Cantor set, except for on each

step we remove the middle kfzth of each of the intervals (instead of removing the middle one third).
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If we remove the middle ~—th of each interval, what is the measure (in terms of k) of each of the two remaining
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Find the fractal dimension of C¥.

intesms of K
S'-S(aﬂ«,? {"‘m/
N=#of preces = 2_

What does the fractal dimension of C¥ tend to as k goes to co?

RS
X indu Mo

Hng £ e c)]vit)é,
O\jj (‘/"JX“bﬁ

&? e

5
o%\/"

=



	Page 1

